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1| ¥RER 4,689 2,780

2| ZER 3,873| 3,282

3|EMER 3,410 2,383

4| BHB 3,355| 4,558

5|IRE R 3,271 2,252

6| FEE 3,171 3,004

71EBEBR 3,054 1,538

8 |ERM IR 2,846 2,619

O|LER 2,700 1,711
10| FIE IR 2,490| 1,297
(MRESS =] 2,459| 1,543
12| BB 2,276\ 1,554
13| =518 2,163 367
14| K8 2,122 1,239
15|1BER 2,027| 2,266
16 | #EARIER 1,919 992
17| BB 1,876 1,361
18| REBIT 1,761 3,065
19| LU 1,749 1,479
20| BHE 1,707| 1,679
21 |ELER 1,656 1,385
22 |EERED 1,451 2,876
23| %ER 1,443 3,203
24 |BEARIR 1,393 1,195
25| RRER 1,389| 1,818
26| RIGER 1,325 735
27 |TRER 1,310 630
28| ILFIE 1,288 1,490
29| g8 1,251 1,073
30| B R 1,216 1,205
31| BIRE 1,171 1,304
32| IIR 1,152 1,900
33| FKEHER 1,147 678
34| EBRER 1,127 483
35|{EER 1,104| 1,075
36| BiFE 946 948
37 | BRE 886 470
38| 5FR 868 630
39| =&EH 850 2,350
40| BEUR 824 467
41| &R 799 872
42 |i6iEE 795| 2,325
43| 1LOE 754| 1,427
44 | KBRIT 733| 3,382
45| ZFE 675 345
46 | 1L 447| 1,584
47 | HHBIE 16 88
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